
2008 FJCL State Latin Forum 
Advanced Grammar 

 
I.  Select the word that does not belong grammatically. 

 
1.   a. memini  b. obliviscor  c. adipiscor  d. misereor 

 
2.   a. Roma  b. Italia   c. Carthago  d. domus 
 

3.   a. alius   b. uter   c. totus   d. ambo 
 

4.   a. sit   b. velit   c. nollet   d. eat 
 
5.  a. oportet  b. licet   c. libet   d. placet 

 
6.   a. mane   b. instar  c. nefas   d. vectigal 
 

7.   a. nisi   b. num   c. ne   d. non 
 

8.   a. servio  b. nosco  c. noceo  d. studeo 
 
9.   a. unus   b. tres   c. centum  d. trecenti 

 
10.   a. locus   b. caelum  c. aedes  d. balneum 
 

II.  Choose the answer which best translates the underlined English into Latin. 
 

11.  There is no doubt that Quintus will arrive soon. 
 a. ut   b. quin   c. quominus  d. ne 
 

12.  We must serve our country 
 a. nos   b. a nobis  c. nobis   d. nostrum 
 

13.  If my friends should live well, I would be happy. 
 a. vivent  b. vivunt  c. vivant  d. viverent 

 
14.  You will certainly regret your actions. 
 a. facta   b. factorum  c. factis   d. facti 

 
15.  Cornelius knew that the slaves had stolen the money. 

 a. abstulisse  b. ablaturos esse c. ablatum iri  d. ablatos esse 
 
16.  Hannibal ordered his men to flee much more quickly. 

 a. ut multo celerius fugerent   b. quo multo celerius fugerent   
 c. ne multo celerius fugerent   d. quam celerrime fugerent 
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17.  The Greek soldiers asked Agamemnon to return Chryseis. 
 a. Agamemnon     b. Agamemnonis 

 c. Agamemnoni     d. Agamemnona 
 
18.  We will go to the city provided that you are there. 

 a. donec  b. dummodo  c. quin   d. ut 
 
19.  Do you know if Cicero is making a speech or not 

 a. utrum...an  b. an...an  c. nec...nec  d. utrum...necne 
 

20.  Our friends were a help to us. 
 a. subsidio  b. subsidium  c. sibsidii  d. subsidia 
 

21.  The weary sailors had a great desire for the land. 
 a. tellus   b. telluris  c. telluri  d. tellure 
 

22.  I had known that the pirate would be killed for his crimes. 
 a. interfectum iri b. interfectam iri c. interfecturum esse d. interfecturam esse 

 
23.  You and I are great friends. 
 a. Ego isque  b. Tu et ego  c. Ego et tu  d. Tu ego 

 
24.  What should we do? 
 a. facimus  b. faciemus  c. faceremus  d. faciamus 

 
25.  I am going to leave you now. 

 a. a vobis  b. vos   c. vestrum  d. vobis 
 
26.  I read about the woman Sassia in Cicero. 

 a. in Ciceronem  b. intra Cicerone c. infra Ciceronem d. apud Ciceronem 
 

27.  If only Claudius Pulcher had not thrown the chickens! 
 a. iecerat  b. iaceat  c. iaceret  d. iacuisset 
 

28.  We teach students Latin. 
 a. discipulis Latinam b. discipulos Latinam c. discipulis Latinae d. discipulos Latinae 
 

29.  It was a sight marvelous to see. 
 a.  mirabile videre b. mirabile visum c. mirabile visu  d. mirabile videndus 

 
30.  We will give the winners five denarii each. 
 a. quinos denarios    b. quinquiplex denarios 

 c. quinque denarios quosque   d. quinque denariis  
 
31.  The prisoners whom the emperor spared wept with gratitude. 

 a. quos   b. a quibus  c. quibus  d. quorum  
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32.  We had been about to give the money to the people. 
 a. Dati eramus  b. Daturi eramus c. Daturi fueramus d. Dati fueramus 

 
33.  That girl is too beautiful! 
 a. pulcherrima  b. multo pulchra c. pulchrius  d. pulchrior 

 
34.  There were so many dangers that we did not complete the task.  
 a. ne   b. ut   c. quominus  d. quilibet 

 
35.  Do not use force when you open that! 

 a. vires   b. vis   c. vi   d. vim 
 
36.  I do not know where I am. 

 a. quo sim  b. quo fuerim  c. ubi fuerim  d. ubi sim 
 
37.  The senators convened the day after the plot. 

 a. postridie insidias    b. postridie insidiarum 
 c. postridie insidiae    d. postridie insidiis 

 
38.  What conjugation are more than half of all Latin deponent verbs? 
 a. first   b. second  c. third   d. fourth 

 
39.  Which of these person/numbers does not exist in Classical Latin for the present tense of the verb 
aio? 

 a. 2nd singular  b. 3rd singular  c. 2nd plural  d. 3rd plural 
 

40.  Which of these is NOT regularly used postpositively? 
 a. ergo   b. enim   c. igitur   d. autem 
 

41.  Which of these prepositions, when used as a prefix on an adjective, means “somewhat”? 
 a. per   b. pro   c. in   d. sub 

 
42.  Which of these is not an intensifying enclitic? 
 a. –pte   b. –men  c. –pse   d. –met 

 
43.  What tense would the Latin verb be in the sentence “I have long since given up” if the word 
iamdudum is used? 

 a. present  b. imperfect  c. perfect  d. future perfect 
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For questions 44-50, refer to the following passage. 
 

   Hercules nihil mali suspicans vestem quam Lichas attulerat statim induit.  Paulo post magnum dolorem 
sensit, et quae causa esset eius rei magnopere mirabatur.  Dolore paene exanimatus vestem detrahere 
conatus est; illa tamen in corpore haesit, neque ullo modo detrahi potuit.  Tum demum Hercules quasi 

furore impulsus in montem Oetam se contulit, atque in rogum, quem summa celeritate exstruxit, se 
imposuit.  Hoc cum fecisset, eos qui circumstabant oravit ut rogum quam celerrime succenderent.  
Omnes diu recusabant; tandem tamen pastor quidam ad misericordiam inductus ignem subdidit.   

 
44.  What case and use is the word mali in line 1? 

 a. predicate nominative    b. partitive genitive 
 c. objective genitive    d. epexegetical genitive 
 

45.  What use of the ablative is illustrated by the word paulo in line 1? 
 a. separation  b. comparison  c. degree of difference d. description 
 

46.  To which of these does the word illa in line 3 refer? 
 a. Lichas  b. dolor   c. res   d. vestis 

 
47.  What is the best translation for the word cum n line 5?  
 a. when   b. since   c. although  d. with 

 
48.  What use of the subjunctive is introduced by the word ut in line 5? 
 a. purpose clause    b. indirect command  

 c. substantive clause of result   d. proviso clause 
 

49.  In the last sentence (line 6), how many adverbs are there? 
 a. 2   b. 3   c. 4   d. 5 
 

50.  Why did the shepherd light the pyre? 
 a. Hercules influenced him   b. He was forced to do it 

 c. He refused to let anyone else do it  d. He pitied Hercules 


